Problem Set 2 Real Analysis1 9/8/2004

1. No, | don't think it'savery good definition. Firgt of al, notice that it's essentidly different from the
gandard definition: f(x) = x counts as a bounded function under this proposed definition (Sncefor any a
e R, M =|a] + 1 sarvesasabound in thissense). But just because it's different from the normal
definition of bounded doesn’t make it bad — it might be better, or just different. But what does meke it
bad isthat dl functions count as bounded in this sense (Sncefor any a € R, M =[f(a)| +1 servesas a
bound in thissense). Soif it'saproperty that every single function has, it might not be a very interesting
property.
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